20183 =AMAFSA0H S=) 18 AL 21 -2l
T = = 5 2%}(9.14.) 11}}(7;.75.)&( s T_J)t 2I L H|
(40==) (7 =) wany | maztn %a,rsfa H|S
AFH(17H/300~3509) 2,023 1,215 808 66.48%
HH (17}/650~700g L{2]|) 2,376 1,932 444 22.98%
I (1£0]/300g LH2l) 2,447 - R EAES
=(1kg) 8,762 _ xIIFAEE
2 (17H/1kg) 2,414 2,755 - 341 -12.38%
HY 2= (1% 7| /1kq) 6,024 5,480 544 9.93%
HF(1kg) 6,260 8,431 - 2,171 -25.75%
CH2=(1kg) 12,978 12,084 894 7.40%
T X| 27| (= 4/ aH 3 4H/6009g) 13,484 13,968 - 484 -3.46%
Ck 1 7|(10}2|/1kg) 6,120 6,388 - 268 -4.19%
XA A 07| (2 A5 A /600g) 51,260 51,540 - 280 -0.54%
23z =) A 7| (=2 At/ Al/6009) 29,228 30,838 - 1,610 -5.22%
CHZE(1 T/ E2H/307)) 5,080 5,214 - 134 -2.57%
Z=7|@aafz|/=AH/15cm) 1,511 1,467 45 3.05%
g X|(10f2|/=4tH/60cm) 5,197 6,438 - 1,241 -19.27%
150{(10of2|/=4k/30cm) 2,658 2,125 533 25.08%
O Ef(10}2|/2 A| OFAH/40cm) 3,053 4247 - 1,193 -28.10%
Sl = @ Xlof(1at2|/=At/30cm) 4,364 4,213 151 3.59%
MCH@org|/=A/28cm) 4,224 - EIIRAER
0lof(10t2|/=AH/40cm) 5,386 - FIEAES
ZEf(10OF2|/=54F/40cm) 5,625 - EIIEAER
o|-=0{(10f2|/=4t/1kg) 28,000 _ A EAIER
xt108HZ At/1kg) 25,000 - EIIEAER
ME(20kg) 48,239 48,049 190 0.40%
Qk1iH(1kg) 1,673 2,456 - 783 -31.89%
7HOb= (1kg) 8,578 8,673 - 95 -1.09%
DETHE(ZAH/1kg) 30,377 29,306 1,071 3.65%
T (=4t/1kg) 40,480 - EIIRAIER
':”7f-,-(§@|,—'?'—/1kg) 1,308 1,398 - 90 -6.40%
N 2(12/300g/2 &K =) 1,088 1,116 - 28 -2.53%
(EEZ) MB%(l 8L/27|2) 4,593 5,569 - 976  -17.52%
I Z=(14 350me/A 01 A) 1,252 1,253 - 1 -0.04%
DHx(ltﬁ 500me/A 0 ™) 1,441 1,445 - 4 -0.28%
AZ=(18 350me/2|Al) 4,000 4,000 Hsh
O Z= (18 500me/2|Al) 4,000 4,000 =5t
32O (1L) 1,623 1,611 12 0.74%
Z19.(1L) 1,425 1,413 12 0.85%
S o(1L) 952 943 9 0.95%
QA MH| A zH K| ZHH|(160~200g/== L At/ Q| Al 12,000 12,000 =5t
REZ) AL AH160~200g/=LH At/ Q| Al 12,000 12,000 =5t
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(408 @ 2 RENT  MME BENE h o O S0 cdne smse smes
AF2H(17/300~35009) 2,000 2,000 2,500 3,300 1,100 2,054 1970 1970 1,100 2,240
H (171/650~700g Lj2|) 2,000 3,500 3,500 1,625 1,250 2,448 2,230 2,960 1,950 2,300
It T (1%0]/300g L} 2|) 2,300 2,000 2,500 2,340 2,900 2,580 1,980 2,180 3,238 2,400
= (1kg) 3,330 /7,500 9,000 9,000 9,500 8,860 3,900 8,900 8,633 9,000
2(174/1kq) 1,500 2,000 2,000 2,500 3,500 3,280 2,680 2,680 2,000 2,000
H == (12 7|/3kQ) 5,000 6,500 6,000 4970 5,000 8,488 6,280 5,480 - 6,500
3H(1kg)-Qt77t A 4 000 /7,000 5,000 /7,500 - 7,480 6,580 - - -
3F2ICH 2= (1kQ) 12,000 12,000 10,000 10,000 14,000 3,900 15,960 15,960 - 17,980
SN K| 27| (g AH/ A E4/6009) 14,400 13,200 14,500 13,680 13,000 13,680 13,740 13,740 13,800 11,100
ck7((10f2|/1ko) 6,500 5,500 5,800 5,800 5,500 5,800 /7,500 /7,500 5,800 5,500
A 7| (=25 4/6009) 45,000 48,000 57,000 58,800 59,000 52,800 47400 47,400 51,000 46,200
(i;:-) 2 27| (= 4/ 21/6009) 24,000 28,000 26,000 27000 27600 31,020 33,600 36,600 - -
EhZFQa/ E2H/307() 5,000 5,500 4 900 4 900 3,950 4 590 5,780 5,780 5,200 5,200
2 7(10r2|/=A/15cm) 1,660 1,000 1,000 2,000 - 1,980 1,500 1,500 1,643 1,320
2 X[(10f2| /= £t/60cm) 5,000 5,500 5,000 5,000 5,500 5,970 5,000 5,000 5,000 5,000
s @afa|/=AH30cm) 2,500 2,000 3,000 2,500 3,500 2,780 2,500 2,300 2,000 3,500
HEH1OF2|/2{A|OFAH/40cm) 2,500 3,500 3,000 4 500 3,000 4 980 1,500 1,500 3,000
=AM @ofa|/=AH30cm) 6,600 5,000 5,000 3,800 - 4 580 3,900 3,900 3,000 3,500
M ECH(10F2| /=2 AH/28cm) 5,500 2,800 2,500 3,900 4 000 - - - 4967 5,900
Ol{(10f2| /= AH/40cm) 5,000 6,500 5,000 6,000 5,000 - - - 4 800 5,400
QFEN(1OF2| /=L AH/40cm) 6,000 6,500 5,000 - 5,000 - - - - -
o 20 (10t2|/=4H/1kg) 30,000 20,000 30,000 25,000 25,000 - 38,000 - - 28,000
£t 10 8K (= 4t/ 1kq) 20,000 30,000 - - - - - - - 25,000
#4F(20kQ) 49 000 47,000 52,000 44900 46,500 47990 49500 49500 46,000 50,000
QFIIf(1kg) 1,000 2,000 1,300 1,280 2,500 1,990 1,640 1,720 1,500 1,800
7t0F=(1kg) 10,000 3,000 6,500 7,900 3,500 7,980 9,500 10,500 3,100 3,800
NE=I7HE(=34H/1kQ) 30,000 30,000 33,500 24200 27450 29800 29960 29960 30,000 38,900
(=3 A/1kQ) 30,000 - 33,500 - - - 49000 @ 49,000 - 40,900
U= (=4 Z/1kg) 1,500 1,300 1,390 1,300 1,400 1,280 1,180 1,180 1,150 1,400
FE2(12/300g/5 &N &) 1,000 1,000 1,500 1,000 950 980 1,000 1,000 1,550 900
f’:gi A2 18L/E7|S) 5,400 5,000 4 000 3,500 3,300 5,480 4 980 4 980 4 600 4 690
AZ=(19H 350me/A 01 A) 1,400 1,260 1,250 1,300 1,250 1,180 1,190 1,190 1,250 1,250
OHZ~(1E 500me/A~0fA) 1,500 1,430 1,450 1,450 1,400 1,410 1,460 1,460 1,450 1,400
AZ=(19 350me/2| Al
2 Z=(18 500n2/9] Al
s o1l X 2 A2 E B247) M1, 40 FAT BL0| SLAK| 2oF AH NFIAY
xpo| 7} rabst 4 9l
AL (1L) - AP 18. 9. 14.(3&)
_ - RAPCHAF : 100 A(HEAIR 3, C{SIOLE 3, AXIRYOLE 2, RHEE 2)
sh CRARY 27t UER Y HA WE A
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